= A
N = 0] &F AF S & AN A
20198 = 20l AH LB H s =4
2N s
M =9 5E UM AY
Sl =1 I8 =X0I8 O CEEEED
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
S =AM 21,334,725 20,635,324 699,401
=2 5,099,773
g 745,884
Jl 862,528
= 1,882,555
= 12,743,985
s S&E 3 AIY 13,893,548 13,425,715 467,833
= 4,134,991
2 428,884
J| 217,399
& 1,090,707
= 8,021,567
=& J|& 22X D8t 0t 1,692,241 1,355,027 337,214
= 36,420
J| 30,336
= 322,802
= 1,302,593
SHESHAIsd"E 25 79,000 99,000 A 20,000
201 et d| 7,000 7,000 0
01 AR 22l ] 2,000 2,000 0
OsgAE AIRS2YH 2,000
03 A2 G H| 5,000 5,000 0
OsdI2 Al 5,000
307 QI2t0| & 52,000 52,000 0
02 QI2tAMAIE E =X 42,000 42,000 0
OEHEXUZ 3,000
Oea @ S0IJIE sHOtE U3 5,000
OF=2=43Hol U3 10,000
OF=ZOoSsHE & A THOHE AF 5,000
Oaz 88330 JIE dsUd 10,000
OEs0H=2g stotE 5,000
Od=EHAd=g02 sl 4,000
03 QIZIHY B ESIHIEX 10,000 10,000 0
Ost=2==g3Hol daAZAS S 2HXA 10,000
401 AlEHIZ £ 0HY| 20,000 40,000 A 20,000
01 Al&H| 20,000 40,000 A 20,000
O=sgolg & B4 20,000
sXOISAEHZAF XIS 30,336 29,505 831
J| 30,336
101 @1 214| 27,936 27,105 831
J| 27,936
04 JI2tHIZ22NEE S 27,936 27,105 831
O=sX0ISAEIEA 27,936
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2N SYELD
HIM: = =& E35 AIY
o9l s I8 =X Iy O CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
301 Bt A= 149,500 203,550 A 54,050
= 37,375
= 112,125
02 &et=dsx=2 149,500 203,550 A bB4,050
Osdolxty st XH 149,500
= 37,375
= 112,125
sIHE00 XS 52,920 45,360 7,560
= 14,700
= 38,220
402 SI2FXHE0| & 52,920 45,360 7,560
& 14,700
= 38,220
02 BIZtXIEANYEX(0OIETHH) 52,920 45,360 7,560
OsIIE0 XNEEALS 52,920
& 14,700
= 38,220
HEsYolMdYH 2 XS 125,500 119,000 6,500
o= 33,000
= 92,500
307 21240 125,500 119,000 6,500
< 33,000
= 92,500
02 QI AAIE E X 125,500 119,000 6,500
OWE=sOHE 29 XA 125,500
& 33,000
= 92,500
DNEIN =g A=sHAH XA 200,000 122,000 78,000
301 LBt A= 200,000 122,000 78,000
12 JIEtE2 A= 200,000 122,000 78,000
O1NY M= ds=s3HH XNJAY 200,000
sHI| Ol 2SS4 172,800 72,000 100,800
= 51,840
= 120,960
301 et A= 172,800 72,000 100,800
& 51,840
= 120,960
12 JIEtE A= 172,800 72,000 100,800
O s4) 02 2s34 XN 172,800
= 51,840
= 120,960
HAE =Yl MMIIE X2 134,550 80,000 54,550
o 40,365
= 94,185
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SN SUEMD
HE: 59 5E BUS AY
Sl =T 01" =X0I8 O (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 34,020
< 4,374
= 10,206
FEsgel dasotel XA 4,000 0 4,000
< 1,200
s 2,800
307 glz2tol & 4,000 0 4,000
< 1,200
s 2,800
02 It M AHE L 4,000 0 4,000
OFdsgel dasotel 4,000
< 1,200
[ia 2,800
HeE=sgel s&agy Holzd X& 16,480 0 16,480
=3 4,944
e 11,536
307 21201 A 16,480 0 16,480
3 4,944
e 11,536
02 YAFHAANGFEX 16,480 0 16,480
Od=sgel =&y #o @ X& 16,480
= 4,944
fia 11,536
H=sSAE - FEdYs ZZ4sUUsTE MYz & 100,000 0 100,000
ZT BA
401 A& HIZ 2018 100,000 0 100,000
01 A& HI 100,000 0 100,000
OFSEHE  HUZUs FYASYUST &
L2 SHEIZSA 100,000
S|U=sHAY =& 79,554 80,236 A 682
A= AtY F& 79,554 80,236 A 682
101 14 Hl 24,048 21,687 2,361
04 JIZHHZ2Z2XNHEE S 24,048 21,687 2,361
O=Jl A=8g B4ZA SHEE o2y
66,8003 30 125 ™ 24,048
201 £B-2dH| 44,706 44,149 557
02 =24l 14,706 16,149 A1,443
OFULSXZAAE(HADIS) RXNB =+
58,200,000 *13% 7,566
OBEMNLSS2AAE(HABIS) RANES
(53,533,000 *13%)+(2,250,000 2 *8%) 7,140
03 A2 Z Hl 30,000 21,000 9,000
Odst=Z2dEgs /138 ¥ AOILE HA 30,000
202 o4dl 6,000 10,000 A 4,000
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2N SYELD
HIM: = =& E35 AIY
Sol: WEBY S MADIE PE CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O/E 2| HkTHEY XI& 15,000
ESHAS A MAF X 251,576 251,576 0
301 et A= 115,000 115,000 0
12 JIEtE A= 115,000 115,000 0
OXEAHOZES M HAHAIH K& 15,000
OFstAsNE 4 A2 XN 100,000
402 SI2FXHE0| & 136,576 136,576 0
01 CIZEXIEANS X (MMM L) 136,576 136,576 0
Ozr&td I =XM XA 10,000
OR2H=MH EX=X X 54,000
O XM= XA K& 72,576
AEAsHE= 55,560 80,782 NP5, 222
= 55,560
301 et A= 55,560 80,782 NP5,222
= 55,560
12 JIEtE A= 55,560 80,782 NP5, 222
OFstdsgAEXN2M K& 55,560
= 55,560
SI&E8HlE2 X 1,686,201 1,566,427 119,774
= 760,000
= 926,201
307 212t0| ™ 1,686,201 1,566,427 119,774
= 760,000
= 926,201
02 QIZHBAAIE E X 1,686,201 1,566,427 119,774
OKRIJIEHE NIANY 1,686,201,000 1,686,201
= 760,000
= 926,201
EXMEH XS 676,655 376,510 300, 145
= 450,129
&< 113,263
= 113,263
307 2iz2to| & 676,655 376,510 300, 145
= 450,129
& 113,263
= 113,263
02 QIZFA AAIE E X 676,655 376,510 300, 145
OELMM XA 676,655
= 450,129
o= 113,263
= 113,263
MHAMAF DAY 430,812 429,202 1,610
& 215,406
= 215,406
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AN sS4
HE: 59 5& A5 AL
SRl HEY 4N M4)IY RS (29 a8)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
307 glz2tol & 310,812 339,202 A 28,390
< 155,406
s 155,406
02 PIZHEHAHE L 310,812 339,202 A 28,390
OXAST(HEESS) ALY 310,812
= 155,406
s 155,406
402 RIZ2HXt20l ™ 120,000 90,000 30,000
< 60,000
e 60,000
02 22t X2 AL E X (01X THE) 120,000 90,000 30,000
Ol 2% XA 10,000, 000% 1574 2 x60% 90,000
< 45,000
s 45,000
O=g4&8 ZHEE XA 30,000
< 15,000
s 15,000
HER2E 48 X2 326,676 407,000 A 80,324
402 RI2EX20l A 326,676 407,000 A 80,324
01 It 2 AL B (KM ) 326,676 407,000 A 80,324
OH =28 HE. LEtad&E X2 326,676
dsgA=3 1,168,373 631,000 537,373
= 1,168,373
201 Let24d] 5,483 9,500 A4,017
= 5,483
01 At 2teltl 5,483 9,500 24,017
OdAI?I3a 29 & HRFIHH A 5,483
= 5,483
202 Odl 11,000 15,500 A 4,500
= 11,000
01 = LH 4 bl 11,000 15,500 A 4,500
OLsHEES AF g2F2 ol 11,000
= 11,000
301 L2 AF 1,151,890 606,000 545,890
= 1,151,890
12 JIEtE4 3 1,151,890 606,000 545,890
Oedsgaszs N3 1,151,890
= 1,151,890
gsdA=3(%Hl) 97,342 94,444 2,898
= 47,407
[ia 49,935
202 oidl 6,322 6,444 AN 122
< 1,897
[ia 4,425




2N SYELD
M =Y =& 243 ALY
Sol: WEBY S MADIE PE CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH 4 bl 6,322 6,444 A122
OgdsgA=Es Nd gRFA0HI 6,322
< 1,897
[ia 4,425
301 et a =z 91,020 88,000 3,020
< 45,510
[ia 45,510
12JIEBE43 91,020 88,000 3,020
OgsgAEZ NA(ZH) 91,020
< 45,510
s 45,510
RIS XA 500 925 A425
2 200
s 300
307 gl2tol & 500 925 A 425
= 200
a 300
02 It M AHE X 500 925 A 425
ORIIsLAM XJ AL 500
= 200
[ia 300
=orEZ e 102,222 100,000 2,222
= 80,000
i 22,222
201 L2l 2,222 10,000 NT,778
01 At 22l 2,222 10,000 ANT,778
O==¢3E MHLeds SHIA 2,222
206 = Hl 100,000 90,000 10,000
s 80,000
[ia 20,000
01 MHZ 4l 100,000 90,000 10,000
O33R MHLLEF 100,000
as 80,000
e 20,000
SIASHFA 2N 20,000 20,000 0
2 8,000
< 3,600
[ia 8,400
402 BI2FX=20| M 20,000 20,000 0
= 8,000
< 3,600
s 8,400
02 QI EALEZ (01X THE) 20,000 20,000 0
OsJIA ddSHEX XA 20,000
= 8,000
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2N SYELD
M =Y =& 293 MY
Sol: WEBY S MADIE PE CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
== 12,239
s 28,558
402 RI2EX=20| A 163,187 30,724 132,463
= 122,390
= 12,239
s 28,558
02 QI EAIL EZ (01T S) 163,187 30,724 132,463
OFSIUHNUXES ALY 163,187
= 122,390
< 12,239
= 28,558
=& SIH N&A 213,000 0 213,000
402 RIZ2HXt20l ™ 213,000 0 213,000
01 Q12 X2 AF 2 2= (REXIXH &) 213,000 0 213,000
O=&% sJ/H XA 213,000
& Mg sI/H N 152,500 0 152,500
402 RI2EX20| N 152,500 0 152,500
01 2I2F 2 A E = (RERTH ) 152,500 0 152,500
Oog &8 sJIH XA 152,500
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